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# Sivan Toledo, 6.6006
#--- Sorted Lists ---

def sortedlist_init():
return []

def sortedlist_print(R):
print R

def sortedlist_insert(R,t):
R.append(t)
R.sort()
return R

def sortedlist_deletemin(R):
return R[1:]

def sortedlist_runway_insert(R,t):
for i in range(len(R)):
if abs(t-R[1]) < 3:

print ‘error: ' + str(t) + ' is too close to ' + str(R[i])
return R

R.append(t)

R.sort()

return R

#--- Binary Search Trees ---

def bst_init():
return None

def bst_insert(T,t):

if T == None:
return [None, t, None]

if t <= T[1]:
T[@] = bst_insert(T[O0],t)
return T

else:
T[2] = bst_insert(T[2],t)
return T

def bst_str(T):
if T == None:
return "’
return bst_str(T[@]) + ' ' + str(T[1]) + ' ' + bst_str(T[2])

def bst_print(T):
print ‘[ ' + bst_str(T) + " ]’



